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N.B.: (1) All questions are compulsory.
(2) Make suitable assumptions w
(3) Answers to the same question

(4) Numbers to the right indicate marks. g P S
(5) Draw neat labeled diagrams wherever neeessarv S

(6) Use of Non-programmable calculaters is. allnwed

herever necessary and state the 'nsumnngm mad
must be written lﬂL[‘:thcr . .

Attempt any three of the following: B e Ll S *:‘-_ SN
What is the role of DBMS? What are its advantages nver ﬁle system'? it (L L J

|

a

b. Explam storage system and query preeesser eernpenents of database structure A
c.  What is a business rule? What is its purpose i1 data mndehng‘? ol
d
e
f

Write comparison between hierarchical; netwerk & relattenal rnedel - 7

il S S ; _ Y oy
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List and explain Codd’s rules in detatlt,—, CPAT o i A S
Explain ER diagram and its components Gwe the d1stmenen between dlSleI'lt everlappm g,

total and partial constraints. Draw E-R d1agran:t fer the follewmg s1tuatlens that correctly

-

\\‘ .n__ .
F a ,-l . i .- . = L ,. ;

models this domain and its eenstramts iRy ;‘.‘ TS g W
A small racing league Wanta database 0. keep traek ef teanls,‘dntfers* raees and scores in

the league. The league 1s; mn fer 1;eams wh.teh“at:e 1dent1ﬁed by thelr names Each team has

one or more drivers si gned uﬁ, and eaeh drnfer 19 reg1stered wuh the Ieague and has a unique
league licence number Flrst and last nameSxef the dnvers sheuld alse be included. A driver

may only part1elpate fer a. smgle tean:l tbrengbeut the seasen Races are 1dentified simply
by the dates when tbey—are riin: For: eaeh raee ‘the leag‘ue alse wants to store the venue where
it took place.; Dnvers part1c1pate in raees »and fer each partletpatlng driver the database
should store: the tetal raee tlme fer that dnverwand the 1eague score they got from that race.
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2. Attempt anp rhree nf thefellemng S S o (5

Why are enhty 1nte gn‘ry and referentlal mtegnty 1mpel:tant in a database? Explain in detail.

b. Explam why nermahzatton 1s neeessary nl_ Elat‘abﬁase system & also explain database

| ,,.__l o
J‘- i"'\,,_t.:

anemahes 111 detaﬂ Yo .:"‘ e &
.Yeu are: gwen the fellowm g set ef funetlenal dependenetes for a relation R(A,B,C,D,E,F),

L

{AB——}C DC -—}AE E - F } """ L
Wbat are’ the keys ef this reIatten?
g '_Qb Ts this relation T BCNF? Ifnet e:-tplam why by showing one violation.

i eels the decernpes1t10n (A B “Cy D) (B, C, D, E, F) a dependency preserving
" 'f-decempesmen‘? If not, explam brleﬂy 2
60 ’erte*shnrt note: en Cartesmn preduct 'with its syntax and example.
d EX]JIB.]H SET eperaters i relatlenal algebra with example.
o8 Explam formal deﬁnttlons wnh safety of expressions of tuples relational
. f State the dlfferenee between”relatmnal algebra and calculus. ~

R

calculus.

3 : i_Atternpt anv ﬂn&é’é ef the follewmg 15
_“What are. eenstramts‘? Wbat are the different types of constraints? Explain

b Wben can- a ‘View. be updated‘? Explain the syntax of updating a view. Also state the

- dtfferenee between vtews and table. - OVER]
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_D1ffercntlate betwccn

| I-'?Aftempi any three nf fhe fn[lomn g' 5

_.I'..LISt the’ ACID: propernes
,;.L-_,Explam the conccpt of. senaluablhty and explam in detail view serializability.

;-_'.".'What ‘are s concurrent transachon‘? Explain in detail the main features of concure
-‘-"executmn ot
-~ 'What are: the d1sadvantagés of time stam
ping methods fo ' 7 Eplain
_ ,;;;tlmestamp ey Sectil g r concurrency control? Ep
. What: bcneﬁt does: r1g0r0us two-pha

se locki
- forms of two-phase locking? * ng provide? How does it compare with offer

lfdeacllock 15 avmded by deadl
- .,..your answer, < ock-avoidance schemes, is starvation still possible? Explai?
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ANY and ALL opcrat@rs with example & also explain hierarchical
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Attempt any three of the following: o e 15
What is the use of %o TYPE attributes and how it1s bemfﬁi'iﬂf“fbﬂ?dﬂﬁﬂﬂfﬁﬁg' the'. ¢ e
variable? B eSS e N T g e
Tllustrate the attributes of implicit cursor with axamplas ' e : &
Explain the function Raise_Application.. Error () with: axamp‘me kS anga SOk
List & explain the various features of PL/SQL &; also dlffarentlata batw E:f:n anﬁﬁ‘jrmgug

blocks and Eprng[ams' w -'.' ﬁ _ __ _ _-

"l".' e

What are packages 0 PL/SQL? List and e:-Lp‘Lam thc vanaus advantagas o’f packages

Tar
Create a package 1o display the employee fame and gal ry
What arapmggers‘? Explain the syntax i for crea.tmg & tngget 111 ’PL!SQL LlS'i. the beﬂeﬁts Df
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